20234F1 R P B2 B 6 b

bR 4T ot | g | el

—. Al f¢.7t 66.50| 11.1

il fz.7t 5.10 4.5

%l ¢t 37.13]  15.9

=k fz.7t 24. 27 6.0

3|4

AR S = JiTt 94558 4.5

Hodr: JR25%% Ji TG 71970 -

FRAT 7 fii - -

Horpe N R fify - -

KAE S Hieg - -

HELE Wi - -

Horr: et I - -

s CSEHED | mg 63181 5.7

WK & i 7789 3.3

Hr: W fig 7110 3.3

K i M 2600 8.8
W =L E 7.7:55.8:36.5

-1-



20234F1 R P B2 B 6 b

_ " 1-3 Eil= ]
AT WAL | e s
=L AL E TR
1. b= E Jiot | 591941 4.7
Oz E Ty
BTk Figt | 454867 22.5
% Yapn 137074 —45. 1
QA il 5
A Al Jigt | 403392| 42.5
Horpe M) Jigt | 350321 48.1
JB o) Al Jit | 186863 —44.4
SN MR G TR | i 828| -29.9
HAhA RN | Tt 858 1.7
2. MOTAZFE T CREFET)
BN Jigt | 579665 16.4
AR B0 Jit | 296206 45.8
I A A Jiot 52568| 82.0
et Jiot | 733873 -1.9
BErE et Ji7t | 1262105 0.5
7 ¥ Jivt | 142920| —15.4
JRE AT Jigt | 336731 15.7




20234F1 R P B2 B 6 b

He bR AT wtr | g | e

VO[] 557 45 5 56 ik
L[] 557 $ 5% f¢.7t - 7.9
Hodpe RJa)EHE f¢.7t - 44.5
Horprs = R R 5| 127t - -27.3
Hrr: fEx f¢.7t - -29. 6
2+ BRI e B e ¢t - 51. 4
3. R T m’ - -10.3
Hrpe fE= m’ - -33.1
4. PR S SR E A | 13.02 26.2

F. #H

1 @HEFE CERELAD| 27T 2.46[ 21.5
Hodpe @B THE™A | 147t 2.05 17.6
AT ME | /it | 180.40| —65.6
2. EFING (&t | ALt 3.26| 19.6

-3-



20234F1 R P B2 B 6 b

HehR 4 ifr | gt |
A

1. BHERGEELG | oo | 184987.0] 9.6
OF EHLIX 7y

W Jigt [135747.1f 10.1

EZN] Jigt | 49239.9) 8.4
QT RIS 5

EJVION it | 24221.8| 17.9

P i JiJt |160765.2( 8.5
2. PRACL R a8 Jiot | 44123.6[ 15.0
OILBEHLIX 75

W JiJt | 36614.8| 13.2

E25) Fi TG 7508.8| 24.7
QMR E

BRI Ji TG 5041. 8 22.9

P i JiJt | 39081.8[ 14.0




20234F1 R P B2 B 6 b

LS H e

FabR A2 R AL | 28 | g )

. WL
1. BUERA Jigt| 161916| -27.8
2 HOTBUON (IECARIAR) | Jioc | 26025) -28.7
3. BIIBIL Jigt| 19891 -27.5
Horr: HEERBL Ji7G 7748 -24.5
A JiTG 8645 -30.9
4y NILWECCH Jigt| 129379 1.2

I\ R R AT SRR JG 7169 6.5
1. W AERRAL SR  Jo 10793 5.2
2. AEAFERAA RN Tt 4813 6.7

=y S SLg AN BH;K [A] Eb 3

L. &ph
SRR 25 T 2k 80 Jivt | 3588238 10.6
He: WeRERMEEMAEK | Jiot| 3201996 13.3
KR IR ARSI 1 Fiot | 1450163 19.5




DUrpoli 28 B X 32 S22 45 b 5 s DL

AP RVE (178

o X 1-3H | #axi | [ | B

Fits | H2 (WK | HEiA
€ 284997 - 4.5 -
BES 7651. 90 - 5.3 -
P 426. 22 - 6.3 -
WEX 89. 11 1 4.6 7
F A IX 66. 50 3 11.1 2
B [ 67. 11 2 4.3 8
PESIE = 48. 38 4 6.8 5
=t 26. 43 7 -2.3 10
= 48.18 5 9.8 3
TomE 30. 56 6 3.8 9
s BH £ 20. 55 8 12.8 1
ses 20. 48 9 7.6 4
HE 5. 88 10 7.6 4
Bt 3.04 11 6. 4 6




R LN e R B 237 £ (R U T A A

Fr e (2

X 1-3H | 4| R | gk

2itdc | HE KW | 4
Eo 11575 - 3.7 —
SIS 246. 03 - 4.1 -
P 44.76 - 4.2 -
WEX 4.16 5 3.9 7
P KX 5.10 3 4.5 1
I ] 9. 82 1 4.4 2
PESIE = 8. 04 2 4.0 6
iz H 4.03 6 4.1 5
IRESS 5.05 4 4.4 2
TR 3. 56 7 4.3 3
i o 1. 68 9 4.1 5
BHEA 2. 66 8 4.1 5
B IE 0. 44 10 3.8 8
P EL 0.22 11 4.2 4




DUrpi 28 2L DX 32 S22 e 45 b 5 s DL

Bk E (o

Ho X 1-3H | 4ax | R | G

R4 i | K% | H4
5 107947 - 3.3 -
BUES 3721. 03 - 4.1 -
P 179. 36 — 6.1 -
WEX 22. 41 4 -0.6 10
P K IX 37.13 1 15.9 2
g ] L 32.74 2 0.1 9
=) 21. 38 5 6.8 7
1z 8.19 8 -18.4 | 11
U= 23.75 3 14.6 3
TRE 14. 33 6 0.4 8
I BH £ 9.98 7 20. 7 1
HEA 6. 38 9 12.3 4
B HTE 2.24 10 10. 4 5
=N 0.83 11 10. 0 6




DUrpi 28 2L DX 32 S22 e 45 b 5 s DL

o IX

FH=rkhE (2o

1-37 | daxii | R | ik

AR 4 [k | H4
E5 165475 - 5.4 -
DK 3684. 84 - 6.5 -
G 202. 10 — 7.1 -
WEX 62. 54 1 6.7 5
AT X 24. 27 3 6.0 8
B ] 24. 55 2 10. 3 1
¥ B 18. 96 5 8.0 2
(2= 14. 21 6 5.8 9
= 19. 38 4 6.2 7
TR 12. 67 7 7.3 4
EHERE] 8. 89 9 7.5 3
HEA 11. 44 8 6. 4 6
EERUIEE] 3. 20 10 6. 4 6
=t 1. 99 11 5.3 10




DUrpi 28 2L DX 32 S22 e 45 b 5 s DL

PALLL BT ={E (2o

X 1-3H | b | R | s

it | R KO | 4
4 H - - - -
SQUEES - - - -
DT 435. 03 - 0.0 -
NEX 50. 40 5 -7.8 9
P KX 59. 19 3 -4.7 8
IAEESS 90. 30 1 0.3 7
RESE =S 52.13 4 3.3 6
I 16. 63 8 -27.1 10
o H 90. 12 2 4.6 5
ToRE 32.19 6 6.5 4
% [H 24. 96 7 18. 1 1
ges 15. 44 9 14. 4 2
EERIE=C 3.16 10 7.0 3
b B 0. 52 11 -37.9 | 11

-10-



DUrpi 28 2L DX 32 S22 e 45 b 5 s DL

R LA T3 InE. (270

X 1-3H | 4| R | s

Fitd | e [ WKW | 4
4 - - 3.0 -
BIIES) - - 3.2 -
BT - - 5.4 -
WEX - - -3.8 7
P A X - - 16. 1 2
I ] - - 5.4 8
" B - - 9.0 4
iz H - - -29. 3 9
i B - - 13.7 3
TR - - -1.1 6
I o - - 29. 1 1
gmes - - 13.7 3
BB - - 8.5 5
fhiE R - - -31.0 | 10

-11-



DUrpi 28 2L DX 32 S22 e 45 b 5 s DL

[ 5 B BB SE Al (A4oe)

X =3[ | 4| FE | s

Fitde | HB [ KW | 4
e 107282 - 5.1 -
SRESy - - 9.0 -
&GN - - 10.5 -
WEX - - 6.7 9
P IX - - 7.9 8
Il ] L - - 8.1 7
" B - - 9.1 6
LSt - - 23.1 3
o H - - 5.4 10
ToRE - - 18.9 4
g BH EL - - 33.6 1
gHEa - - 3.6 11
B HTE - - 9.1 5
fihbp B - - 24.3 2

-12-



DUrpi 28 2L DX 32 S22 e 45 b 5 s DL

EoH B LA (Lo

o X =38 | 4 | R | s

it | 2 KW | {4
4 114922 - 5.8 -
SES 2754. 90 - 8.6 -
G 173. 87 - 8. 4 -
G 61.51 1 5.3 11
P KX 18. 50 3 9.6 6
I ] 19.33 2 15. 1 1
" B 12.11 6 8.8 8
L=t 14. 37 5 6.6 10
o 17. 30 4 10. 6 3
ToREL 9.21 8 6.8 9
% FH 7.14 9 13.1 2
HER 11. 07 7 9.9 4
B L 2.11 10 9.8 5
L RaEN 1.21 11 9.4 7

-13-



DUrpi 28 2L DX 32 S22 e 45 b 5 s DL

i ERAE SRR (OB

o X 1-3A | 4ol | RIE | s

2itd | HA (WKW | H4
€ 10870 - 5.1 -
DS 8306 - 6.2 -
DL 7031 - 6.2 -
WEX 9286 1 5.6 9
P K IX 7169 3 6.5 5
RS 7109 4 6.2 7
PESIE = 6447 5 6.5 5
T2 6258 7 6.3 6
VU= 7188 2 5.9 8
ToRE 6270 6 6.5 5
1% 6115 9 6.7 3
ges 5432 11 7.1 1
B LA 5914 10 6.6 4
i E 6191 8 6.9 2

-14-



DUrpi 28 2L DX 32 S22 e 45 b 5 s DL

AR AT S RN AT SRR (TB)

X 1-3A | AXH| R | g

K4 4 | K ® | 4
€ 14388 - 4.0 -
S 11372 - 5.1 -
DT 10089 - 5.3 -
NEX 10921 1 5.3 7
P A X 10793 2 5.2 8
RS 10395 3 5.5 5
NESE = 9635 5 5.1 9
Pz 9321 6 5.4 6
W B 10165 4 5.0 10
TR 9212 7 5.4 6
i FH 9040 8 5.7 3
HEE 8570 11 5.8 2
B HTE 8744 10 5.6 4
e 8840 9 5.9 1

-15-



DUrpi 28 2L DX 32 S22 e 45 b 5 s DL

AN AR JE RS AT ST (J8)

o X 1-3H | et | R | s

2itd | HA [ WKW | H4
= H 6131 - 6. 1 -
SIS 4698 - 7.0 -
&) 4497 - 6.6 -
WG X 5042 1 6.3 9
P A X 4813 2 6.7 5
I ] 4674 3 6. 1 11
PESE = 4631 4 6.6 6
T2 4442 6 7.0 2
W B 4487 5 6. 4 8
TR 4308 7 6.8 4
I o 3898 10 7.1 1
HEE 3774 11 6.9 3
B HLEL 4034 9 6.2 10
e 4082 8 6.5 7

-16-



DUrpi 28 2L DX 32 S22 e 45 b 5 s DL

R GTEHEINE S S A BME LR (27D

X 1-3H | 4o | b | itk

fitd | HA Co) | HE4
4 - - - -
SQUEES) - - - -
P - - - -
NEX 46. 48 1 52. 2 8
P KX 35. 71 2 53.7 7
AERS 33. 78 3 50. 3 10
w8 26. 62 4 55. 0 6
Gt 17.05 7 64.5 2
i B 24. 20 5 50. 2 11
ToRE 19. 80 6 64. 8 1
I [ 11.61 9 56. 5 5
HEE 11. 74 8 57. 4 3
B L 3. 34 10 56. 8 4
7 B 1. 56 11 51.1 9

-17-



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17

